LEdulbs 2414 9% 229 =0l Lt

=

A7 B2 A7h A0l BES DINA 25 B2 NS 153641

oEED
D) oz Mu £7| %

1.4 AlgS gl

o
=2
=
0z
_>|‘£
i
nc
rlo
ol
ot
=2
i
el
ol
=
i
il

T
>
a

3. BI22} BiLHE M20]| 2 J27F AR OH0E S5 Z7|5HR| §i2 A2 FAYU7?
5

6. 2| 25z 2| 49 7|=YULICE OfF FZ20| JAXM 7|=2YUL7}?
(%2:8)
(2#415:10)
(1&12:9)
(514:16)

= BiLiEiet 502l Oj=0l= =S o o BiLiEier AE O[0F7|S gLt 1 WE
AL|7E? (2A9:5,6)

8. =t O7l= F2| 29| QoM 2= O 2AE EL7t? (24:10-11, E54:11)

08t

) &l | ©@ 220 HZS0| AlOA g2 @ 2BwsI Fo| Lilets 7|z ©9Y 27Y 22723 A
ot

ro rx

714X W20 AFES EIISHA & fl0 25| M A SHAIL ge 33997t stigel 23
st2] | A stAlz, zo| =05 oM 3 UE LS ls &M FAsks 72O J™EA St
Lid Li2tE flsi &2 st MES2 A = ShaM



